
39310
H0 Brückenstellwerk Hamm 
 H0 Bridge signal tower Hamm

Stand 05/sw

SzT
02/2023

86307

1

DE

EN

Mounting instruction

Montageanleitung

3. Montage . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 2
2. Inhalt . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 2
1. Wichtige Hinweise . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 1

2. Contents . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 2
1. Important information . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 1

3. Mounting . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 2

Safety information

1. Important information
Take care for the right phase of construction by mounting. 
Due to production some parts could be remaining. 

Risk of injury!
Due to the detailed reproduction of the original and the 
intended use, this product can have peaks, edges and 
breakable parts. For installation tools are required. 

Part the pieces from the injection molded by using a cutter. 
Take care not to injure yourself. 

Other adhesives may deform the plastic parts. 
Use only kibri item-No. 39995/39996  plastic glue. 

The contents of the kit have been checked and thus should 
correspond with contents as listed in the part list. 
Nevertheless in case that a part is missing or it is faulty send 
a written order showing item-No., part-No. and  injection-
molded No. 

Caution:

Made in Europe

Level of difficulty:

Schwierigkeitsgrad 
der Bausätze:

Einsteiger
Learners

Fortgeschrittene

Profis
Professionals

Advanced learners

Da Spritzlinge für mehrere Artikel verwendet werden, kann es 
sein, dass bei diesem Bausatz einige Teile übrig bleiben.

Dieser Bausatz wurde sorgfältig geprüft und verpackt. Sollte es 
trotzdem einmal vorkommen, dass ein Teil fehlt, fordern Sie 
dieses bitte per E-Mail oder per Post bei uns an. Bitte nennen 
Sie uns die Bezeichnung und Artikel-Nummer des Bausatzes 
sowie Spritzling- und Teile-Nr. Diese Angaben finden Sie in der 
Montageanleitung. Sie erhalten dann umgehend von uns 
Ersatz.

Passenden Kleber für die Bausätze finden Sie im kibri 
Sortiment. 

1. Wichtige Hinweise
Bitte halten Sie beim Zusammenbau unbedingt die Reihen-
folge der Bauabschnitte ein! 

Sicherheitshinweise

 Vorsicht 

Aufgrund der detaillierten Abbildung des Originals bzw. der 
vorgesehenen Verwendung kann das Produkt Spitzen, Kanten 
und abbruchgefährdete Teile aufweisen. Für die Montage sind 
Werkzeuge nötig. 

Montage des Bausatzes
Die beim jeweiligen Montageschritt benötigten Teile trennen 
Sie bitte mit einem Seitenschneider bzw. Modellbaumesser 
vorsichtig vom Spritzbaum ab und entgraten die Ränder. 

Verletzungsgefahr! 

1. Important information
Please observe the correct sequence when assembling the 
parts to sub-assemblies and to the completed product! 

Caution:

Due to the finely detailed reproduction of the original and the 
intended use, this product may have sharp points or edges 
as well as parts that may easily break off. Some tools are 
required for assembly.

Assembly
Carefully separate the parts required for the respective 
assembly phase with a side cutter or a sharp utility knife from 
the injection-moulded sprue and deflash the edges.

Safety information

You will find suitable glue for the kits in the kibri product 
range.

Since some sprues are used for several different products it 
is quite possibly that some parts may not be needed for this 
particular product.

Risk of injury!

The contents of this kit have been carefully checked against 
the parts list. However, should a part be missing please 
contact us by e-mail or by sending a letter. Please state the 
precise product description and the item-No. as well as the 
No. of the sprue and the specific part that is missing. You will 
find all necessary information in this manual. We will 
promptly supply the missing parts. 

DE EN

Die aktuelle Version der Anleitung finden Sie auf der kibri-Homepage unter der Artikelnummer.
You will find the latest version of the manual on the kibri website using the item-No.

Änderungen vorbehalten. Keine Haftung für Druckfehler und Irrtümer.
Subject to change without prior notice. No liability for mistakes and printing errors.

28 cm

11
 c

m



3. Montage
    Mounting
   

C198 1 C345 1 C366 1 C392 1 C410 1 M81 1 

C191 2 C338 1 C360 2 C384 1 C413 1 C432 1 
C192 4 C339 1 C361 2 C385 1 C414 2 C438 1 
C193 4 C340 1 C362 2 C386 1 C415 1 C439 2 

C196 1 C343 1 C364 1 C389 4 C408 1 C437 1 

C331 1 C354 1 C374 1 C402 1 C428 1   

  C356 3   C404 1 C430 1   

C194 2 C341 1   C387 1 C416 1 C440 2 

C190 4 C337 1 C359 12 C383 1 C412 2 C429 1 

C195 1 C342 1 C363 1 C388 1 C417 1 C436 2 

C197 1 C344 1 C365 1 C391 1 C409 1   

C199 1 C346 1 C367 1 C418 1 C419 2 M82 1 

C440 2   C369 1 C396 1 C422 1   

C442 4 C350 1 C371 1 C398 1 C424 1   
C443 2 C351 1   C399 1 C425 1   
C444 2 C352 1 C372 2 C400 1 C426 2   

C335 2 C357 1 C379 2 C405 1 C432 2   
C336 2 C358 1 C380 2 C406 1 C433 1   
    C381 1 C407 1 C434 1   

C332 1 C355 1 C375 1 C403 1 C429 3   

C438 1 C347 2 C368 1 C393 1 C420 2 M83 2 
C439 2 C348 1   C395 3 C421 1 M84 1 

C441 2 C349 1 C370 1 C397 2 C423 1   

  C353 1 C373 1 C401 1 C427 3   

    C382 2 C408 3 C435 1   
      C409 2     
      C410 3     
      C411 2     

           
       

           

286307/39310

L650 1 L672 1 L691 1 

L652 1 L673 1 L693 1 
L651 1   L692 2 

L653 1   L694 1 
L654 1 L674 1 L695 2 

L656 1   L698 1 

  L675 1 L696 1 

L658 1 L678 1 L699 2 
L659 1 L679 1 L700 1 
L660 1 L680 2 L701 1 
L661 1 L681 1 L702 3 
L662 1   L703 2 

L663 2 L683 1 L705 1 
  L682 1 L704 2 

L664 2 L684 1 L706 1 
L665 2 L685 1 L707 2 

L655 1 L676 1 L697 1 

L657 1 L677 1   

L669 2 L688 2 L710 3 

L667 2 L686 1 L708 2 

 

L671 1   L712 3 
L670 2 L689 1 L711 1 

  L690 1   

L668 2 L687 3 L709 2 

      

L666 2     

- Nassschiebebilder 87829
- 1 Schraube M4x10

- diese Anleitung

- 2 m Faden
- 24 Ballastgewichte

- 1 Mutter M4

- wet slide image 87829
- 1 screw M4x10

- 2 m string

- this manual
- 24 counterweight  

- 1 nut M4 - écrou M4
- 2 m chaîne

- ce mode d'emploi
- 24 contre poids 

- décalcomanies 87829
- 1 vis M4x10

Teile-Nr.  Stück Teile-Nr.  Stück Teile-Nr.  Stück

Spr.-Nr.  Teile-Nr.  Stück

Kontrollieren Sie nach dem Auspacken den Lieferumfang  
auf Vollständigkeit:

Check the contents of the package for completeness after 
unpacking:

- Dekopapier H101
- Anleitung

- Decoration sheet H101
- Manual

- Anleitung
- Haftetikett - Sticker 

- Manual

Schaukästen von kibrí...
für jede Situation die passende Lösung!

12020 Natur

12012 Natur

12018 Natur

12010 Natur
12011 Nussbaum

L 70,5 x H 61 x T 7 cm

L 208 x H 27,5 x T 7 cm

L 104 x H 27,5 x T 7 cm

L 104 x H 61 x T 7 cm

Weitere Vitrinen finden Sie in unserem Katalog oder auf www.kibri.de .

- Anleitung
- Nassschiebebilder H581 - W H581et slide image 

- Manual

2. Inhalt                                         2. Contents

HAMM
HAMM

Hma Hma

Hma Hma
87654 kibri H101

Ausdrucken – ausschneiden – aufkleben – fertig!

Hochauflösende Druckvorlagen für Beschriftungen und 
Beschilderungen finden Sie auf unserer Homepage 
www.kibri.de im Download Center. Die Dekobögen lassen 
sich auf einem handelsüblichen Farbdrucker ausdrucken. 
Für den jeweiligen Druckertyp (Tintenstrahl oder Laser) 
geeignetes Papier bzw. Folie gibt es im Schreibwaren-
fachhandel. Ideal sind selbstklebende, glatte Papiere oder 
Folien mit geringer Materialstärke.

The high-resolution master copy for all kind of signs in your 
kibri kit are available as download for free. Deco sheets can be 
printed by using a standard colour printer. Suitable paper or foil 
for the respective printers are offered by specialized trade. 
Best way is to use self-adhesive smooth papers or foil with low 
material thickness.
Print – cut – stick – ready!

DE EN

Kataloge von Viessmann und kibri/Vollmer können auch bequem über das Internet 
angefordert werden. 
Catalogues by Viessmann and kibri/Vollmer can be ordered alternatively via internet. 



386307/39310

3. Montage
    MountingAlternativ

Alternative

Deko-Material
Deco material

Tipp: 
Möchten Sie das Modell von innen beleuchten, verwenden Sie bitte die Viessmann Art.-Nr. 6832 Hausbeleuchtungssockel mit Glühlampe E5,5, klar. 

Tip: 
If you wish to illuminate the complete model from inside, please use Viessmann item-No. 6832 House illumination socket with bulb E5,5, clear.

Möchten Sie das Modell von innen beleuchten, verwenden Sie bitte die Viessmann Art.-Nr. 6832 Hausbeleuchtungssockel mit Glühlampe E5,5, klar.

For detailed illumination of each window and room, please use Viessmann item-No. 6005 House illumination start-set.
See product information on the last page.

Tipp: 

Möchten Sie die Fenster einzeln und individuell beleuchten, so empfehlen wir das Hausbeleuchtungs-Startset Art.-Nr. 6005 von Viessmann.
Siehe Produkthinweis auf der letzten Seite.

Tip: 
If you wish to illuminate the complete model from inside, please use Viessmann item-No. 6832 House illumination socket with bulb E5,5, clear.

Tip: 

For detailed illumination of each window and room, please use Viessmann starter floor interior lighting item-No. 6045.
If you wish to illuminate the complete model from inside, please use Viessmann item-No. 6832 House illumination socket with bulb E5,5, clear.

Möchten Sie das Modell von innen beleuchten, verwenden Sie bitte die Viessmann Art.-Nr. 6832 Hausbeleuchtungssockel mit Glühlampe E5,5, klar.
Tipp: 

Möchten Sie die Fenster einzeln und individuell beleuchten, so empfehlen wir das Startset Etageninnenbeleuchtung Art.-Nr. 6045 von Viessmann.
Siehe Produkthinweis auf der letzten Seite.

See product information on the last page.

Faden
string

     Faden 1 (400 cm / 157”)
     string
     

 Einbau der Hausinnenbeleuchtung
 Mounting of the house illumination

Möchten Sie das Modell von innen beleuchten, verwenden Sie bitte
die Viessmann Art. 6017/6018/6021 Hausbeleuchtung mit zwei LEDs.

Tip: 

Tipp: 

To illuminate the model from inside, please use Viessmann item 6017/6018/6021 
House illumination with 2 LEDs.


